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1. lim ——
=2 g2 — ¢ — 2

1.9 .99 1,999 [ z.001 2.01 2.1
I 0.33444 [0.33344 |0.333222 |0.33222 |0.332258

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_sMe1iEjZEkvt
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z—2 2 — 4

1.9 1.99 1.999 2.001 2.01 2.1
0.25641 [0.25062 [0.250062 | 0.24993 [0:24937 | 0.24390

o Watch Video Solution
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o Watch Video Solution
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=] -3.01 -3.00 | -2999 | 299 -2.9
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o Watch Video Solution



https://dl.doubtnut.com/l/_BjtvBTJ6qmzV
https://dl.doubtnut.com/l/_mEJe5JzWAtLH
https://dl.doubtnut.com/l/_sy72kAErjSk4
https://dl.doubtnut.com/l/_UWs9xjybIeU8

sinx

5. im
z—0 x
=0.1 =0.01 —0.001 0.001 0.01 0.1
0.99833 | 0.99998 | 0.99999 | 0.99999 | 0.99998 | 0.99833
o Watch Video Solution
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6. lim ———
z—0 X
0.1 -0.01 —0.001 0.0001 001 0.1
0.04995 | 0.0049999 | 0.0004999 —0.04995

—0.0004999

~0.004999

o Watch Video Solution



https://dl.doubtnut.com/l/_UWs9xjybIeU8
https://dl.doubtnut.com/l/_Ag5SjD62o2DZ
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o Watch Video Solution



https://dl.doubtnut.com/l/_meNa7WpAZ3zI
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° Watch Video Solution



https://dl.doubtnut.com/l/_MG6kPUfejuRx

o Watch Video Solution



https://dl.doubtnut.com/l/_k8CmvIkfMXvB

° Watch Video Solution



https://dl.doubtnut.com/l/_RvR1g1WBzPW7
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° Watch Video Solution



https://dl.doubtnut.com/l/_vAHzgzuRBO7L
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12. lim
z—=5 T —5H

o Watch Video Solution



https://dl.doubtnut.com/l/_27UtmClRb6S7
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° Watch Video Solution

14. lim secz
r—0

° Watch Video Solution



https://dl.doubtnut.com/l/_cAJlpooUDn2E
https://dl.doubtnut.com/l/_epGDnnkLkZxz
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o Watch Video Solution

sinx z <0
16. f(x) =¢ 1—cosz o<z <m
cos T >

o Watch Video Solution



https://dl.doubtnut.com/l/_fuamNMv6RnVN
https://dl.doubtnut.com/l/_91r4eD1AXkia
https://dl.doubtnut.com/l/_y8HqECPrvvJ2
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° Watch Video Solution
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° Watch Video Solution
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° Watch Video Solution



https://dl.doubtnut.com/l/_y8HqECPrvvJ2
https://dl.doubtnut.com/l/_JkC3MJsgZZ8s
https://dl.doubtnut.com/l/_r2JXypfR5Dsg

20. x-601 OFILIL| 2-83 6IH([HMIGLD CLING) f(x)-65T 6T6V6BIGL LOGILIL| 4
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° Watch Video Solution
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21. f(37) wHmib f(37) sevor(®B, Heummlest epeud lim v 9

z—3 T — 3
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° Watch Video Solution
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22. f(z) = { z-1 v 71 eT6oflev lim f(x)-601 LOELIL| 2 6iT6rg M

0 r=1 z—1
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° Watch Video Solution
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23. LN6tT6U (THLD 6T6V6m6VS61T60T LD LIEDILIE SHT6B01S. lim2 z 5
xr— xr —


https://dl.doubtnut.com/l/_aevV5WdB85cs
https://dl.doubtnut.com/l/_bzEseXoKCnNI
https://dl.doubtnut.com/l/_p8r6Km1YCiZK
https://dl.doubtnut.com/l/_abnRNWlVO048

° Watch Video Solution
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° Watch Video Solution
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25. Lil6T6U (THLD 6T6V60Y6VS6MT 60T LOG)LIEDLIS &IM60018. lim
VT3 \/E -3
° Watch Video Solution
26. LiledT6u(HLD 616060686111 60T L& LIemLIS SI163015.
L Vz+h-ye
lim x>0
h—0 h

° Watch Video Solution



https://dl.doubtnut.com/l/_abnRNWlVO048
https://dl.doubtnut.com/l/_cKeRYgb75UfB
https://dl.doubtnut.com/l/_Qy9DBaXT6jTt
https://dl.doubtnut.com/l/_ZHoSM0R6ZUH9

27. LiledTeu (HLD 6T6V60)6V 56111601 LGlLIenLIS SI163015.

. vz +4—-3
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z—5

o Watch Video Solution
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28. Lil60T6 ([H LD 6T6V60Y1608:61T165T LD LI6DILIS &M6001S. lim 5
r—2 T —

o Watch Video Solution

2
r — T
29. LT65T6U(THLD 6T606m6UEEM 68T LDELIEMLIG ST680Ta. lim Ve -z
z—1 1 — \/E
o Watch Video Solution
30. LiledTeu(HLD 616060686111 60T LG LIemLIS SHI163015.
’ Ve +1-1
1m
=0 /22 416 — 4

o Watch Video Solution



https://dl.doubtnut.com/l/_l0THLba7BUW9
https://dl.doubtnut.com/l/_g7OIwZcD2Wv6
https://dl.doubtnut.com/l/_9KmKkrpzIMcV
https://dl.doubtnut.com/l/_D96eJ8WaoyqM

31. LedT6U(HLD 6T6V60)6VG6111 60T L& LIemLIS SHI163015.
. Vi+z—1

lim ——MmM—

z—0 Z
° Watch Video Solution

32. LiledTeu (HLD 6T6V60)6V 86111 65T LGlLIenLIS SI163018.
VT — V34 a?

lim

x—1 z—1
o Watch Video Solution

33. LiledTeu(HLD 616060686111 60T L& LIemLIS SHI163015.

2—+z+2

lim
T2 32— /4 —x

o Watch Video Solution



https://dl.doubtnut.com/l/_uDAyWlGQgBwu
https://dl.doubtnut.com/l/_r1RzroLH6ItZ
https://dl.doubtnut.com/l/_iJzsUUXK1o0Z

34. LiledT6U (MHLD 6T6V60)6VG 61T 65T LOFILI6mLIS ST60015.
) Vi4+z2 -1

lim ——MM—

z—0 T
o Watch Video Solution

35. LiedTeu(HLD 616060686111 60T L& LIemLIS SHI163015.
. Vi+z—1

lim ———

z—0 ;132
° Watch Video Solution

36. LiletT6U (MHLD 6T6V60)6VB 61Tl 65T LFILI6mLIS ST65015.
. Ve —1-—2

lim ——

x—5 r—5
o Watch Video Solution

37. LiedTeu(HLD 616060686111 60T L& LIemLIS SHI163015.
) vz —b—+a—0b

lim (a > D)

T—a ;132 —_ a2


https://dl.doubtnut.com/l/_AsZnYbSXxI83
https://dl.doubtnut.com/l/_fUYfMlqJ3kMm
https://dl.doubtnut.com/l/_Wgc7fxInnhC3
https://dl.doubtnut.com/l/_36E6Dgj9Ajy2

° Watch Video Solution

38. LiletT6U (THLD 6T6V6D)Y6VB 61Tl 65T LOFILI6mLIS ST65015.
. z2—9
1m
z—3 $2($2 — b6x + 9)
° Watch Video Solution
39. LiedTeu(HLD 616060686111 60T L& LIemLIS SHI163015.
. 3 2z + 11
lim —
z—o0  — 2 x2 +x—6
° Watch Video Solution
40. LiledT6u (THLD 616060686111 60T L& LIemLIS SHI163015.
3 + 2

%13100 zt — 322 +1

° Watch Video Solution



https://dl.doubtnut.com/l/_36E6Dgj9Ajy2
https://dl.doubtnut.com/l/_hq3xaFNO24d2
https://dl.doubtnut.com/l/_Dl6lK103vrPl
https://dl.doubtnut.com/l/_Hcc2zCjTXEHb

41, LiledTeu (HLD 6T6V60)6V 56111601 LGlLIenLIS SI163015.
. zt — 5z

lim —

200 g2 —3x +1
° Watch Video Solution

42, LiledTeu (THLD 616V6D)6VS61T1 65T L&lLenLIS SI163018.
) 1+ 2z — 323

lim

200 1+ g2+ 323
° Watch Video Solution

43. LiedT6u([HLD 616V60)6V86111 60T L& LIemLIS SI163015.

.’E3 :I?2
li -
£ o <2az2—1 2x+1>

° Watch Video Solution
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https://dl.doubtnut.com/l/_jDMc81fqyqb2
https://dl.doubtnut.com/l/_1pN4HkMXCIm4
https://dl.doubtnut.com/l/_7oQQnIONdrXn
https://dl.doubtnut.com/l/_cTT2YZDkP0Ut
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o Watch Video Solution
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https://dl.doubtnut.com/l/_cTT2YZDkP0Ut
https://dl.doubtnut.com/l/_w8fFMQypSv3X

(1) = 30t
200+t

6T6U6UITM) | LOMM)|LD?

61601 HIULL(Hemengl. t — oo erevfley  SUL155)

° Watch Video Solution
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1 Tx
46. i 6tT6U (TH6U60TEU MM 60T L0 LI6DLIS &HM60oT8. lim (1 + E)

° Watch Video Solution

47. N etT6u(H6U6tTOUMM6ST LOZLI6DILIS SHM6oTsh. lim (1 + :Jc)é

T — OO

° Watch Video Solution

a|3

T — 00

48. Lil6tT6U (TH6U60TEU MM 60T LOGLI6ILIS SM60oTsH lim <1 + %)

° Watch Video Solution



https://dl.doubtnut.com/l/_w8fFMQypSv3X
https://dl.doubtnut.com/l/_0Tk5AZJUbbsy
https://dl.doubtnut.com/l/_6TeWjXIBiCvo
https://dl.doubtnut.com/l/_OxMa0E5NTWub

49, Lil 66161 (T 6L 63T6U M) M) 65T LIS &HI60015

lim _—
T — 00 2x2 + 5

° Watch Video Solution

T — 00

3 T +2
50. LiletT6) (IH6U60T6U MN6ST LOGHLI6DLIS SMT60oTs. lim (1 + ;)

° Watch Video Solution

51. LNedT6U (MH6U6TTEU MM 65T LOGLI6DILIS HT6T518S. lim 3
z—0 €T
° Watch Video Solution
sin ax

52. LNedT6U (TH6U6BTOUMMI60T LD LIEDILIS SHM6301&H. lim  —
z—0 sin Bz

° Watch Video Solution



https://dl.doubtnut.com/l/_b0ELC4gPosf5
https://dl.doubtnut.com/l/_OQLdNXvnLlNJ
https://dl.doubtnut.com/l/_qfVR4EOE0vvS
https://dl.doubtnut.com/l/_xKcm4dnX3r6S
https://dl.doubtnut.com/l/_4BFL7cbwhp1i

tan 2z
53. LiletT6U (T 61 60T6U MM 60T LOGLI6DILIS SM60oTS. lim  —
z—0 sinbx

° Watch Video Solution

sin(a”
54. LiletT6) (IH6U6DTEUMN)6ET LS LIS SM600TS. lim (—31
a—=0 (sina)

o Watch Video Solution

55. Lil 616U (IH 6L 6T6U M) M 65T SIS &HT6T015.
. sin(a + z) — sin(a — x)

lim

z—0 x

° Watch Video Solution

2 2
56. L1 65761 (I 61 63T6U M 6T LO&) L160LIS BT6soTa. lim Vel ta?-a
z—0 \/:L,Z + —b

o Watch Video Solution



https://dl.doubtnut.com/l/_4BFL7cbwhp1i
https://dl.doubtnut.com/l/_txko2wdjRdOE
https://dl.doubtnut.com/l/_pa0cQWoVXowC
https://dl.doubtnut.com/l/_DaB5X94EdXpR

2arcsinx
57. LietT6U (THeuesTeuMMest Lo LIS &M6sols. lim ————

z—0 3£C
° Watch Video Solution
. . . ) . ) . 1—cosx
58. Lil65T61 (TH6U6BTEUMMI60T LOGLIEDILIE SHITETD15. hmo —
T — T
° Watch Video Solution
tan 2z

59. LTe516U (TH6U6BTEUMM)60T LOGLIEDILIE SHITETTS. limo "
x—

° Watch Video Solution

. . . : . . 27 - 3°
60. 116516 (TH 61 60TEU MM 60T LOGLIEDILIE SHITET015. lim0 —
T —

° Watch Video Solution

. . . . . . . 3F -1
61. LedT6U (TH6U6TTOUMMI60T LOGLIEDLIS SHM6T0TSH. lim —————
z=0 Jr+1-1


https://dl.doubtnut.com/l/_1e0ktvwU0isZ
https://dl.doubtnut.com/l/_Vd04W0iJ52AX
https://dl.doubtnut.com/l/_M7JPxVjR7yoQ
https://dl.doubtnut.com/l/_C6bY2Me5gs8U
https://dl.doubtnut.com/l/_74rKeZCbx2zP

° Watch Video Solution

1—cos?z

62. Lil6b16U (IH6U60TEUMN)) 60T OB LI6DILIS &HM650Ts. li _—
L H)f_m 5] ;IEO T sin 2z

° Watch Video Solution

63. Lil 616U (IH 6L 6T6U M) M 65T SIS &HT6T015.

1 1 1
lim = l3? + 1 — cos (—) — 65]
xr— 00 XL

° Watch Video Solution

64. Lil65T6u (IH 6U6BT6U MM 65T ILIemLI& SM65015.

iiinoo {z[log(z + a) — log(z)]}

° Watch Video Solution

: . . : . . ) sin 3z
65. Li6tT6U (TH6u6nTeU MM 60T LOSLI6DLS HM6551&H. lim  —
z—m sin2x



https://dl.doubtnut.com/l/_74rKeZCbx2zP
https://dl.doubtnut.com/l/_dRHm0ayB3DF3
https://dl.doubtnut.com/l/_ehxGBHhtH1in
https://dl.doubtnut.com/l/_UwzAqei9nTE0
https://dl.doubtnut.com/l/_1FdgpzfECRhL

° Watch Video Solution

66. Lil65T6u (MH6U6BTEU MNl6BT LS LI6DLIS

lim (1 + sinz)’*°*

T—T

SHIT600T5.

° Watch Video Solution

67. LT 6576 (IH 6U6BTEU MNJl6BT ILIemLI&
y V2 —+4/1+cosz

1m

r—0 sin® z

SHIT600T5.

° Watch Video Solution

68. Lile5T61 (IH 6U6BTEU M N 65T LIS

) V1+sinz — 4/1 — sinz
lim
z—0 tanz

G601 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_1FdgpzfECRhL
https://dl.doubtnut.com/l/_rpWncnZrurrN
https://dl.doubtnut.com/l/_ngs35zIdaWiB
https://dl.doubtnut.com/l/_DTaVzzEQXXmE

69. Lil66T6U (Ih 6L 60T6U M) M 65T LS &T6T015.

) 22 — 2z +1\"
lim _—
zo0 \ 2?2 — 4z + 2

° Watch Video Solution

: C oo : . : . et —e’"
70. Lil6t16) (IH6U60T6U MN6ST LOGHLI6DILIE STETOTS. hm0 _—
T — sinnx

° Watch Video Solution

ar eba:
71. Lil6tT6) (TH 61 60T6UMM60T LD LIEDILIE ST6T0T1S. lim0
— T

° Watch Video Solution
72. Lile5T61 (IH 6U6BTEU M N 65T LOFLI6mLIS &HT6TO15.

. sinz(1l — cosx)

lim

z—0 x3

° Watch Video Solution



https://dl.doubtnut.com/l/_BtPQMa8cXX4o
https://dl.doubtnut.com/l/_MeWt62oxOYf9
https://dl.doubtnut.com/l/_iCkFOkPTtXhp
https://dl.doubtnut.com/l/_ymZt4lJOQ5C3

. . . . . ) . tanz — sinz
73. LNedT6U (1H6U6BTEUMMI60T LOGLIEDILIS SIT6T015. hmo —
T — T

° Watch Video Solution

74.  f(z) =22 +3z -5 Reo1  eteveum  LeTeMaefiey|d

1B MLITEEIWLIN6EDIG | 6T63T [H)|6) 5.

° Watch Video Solution

75. Q&M(H&HSULL L FMUSGS ClaM(HeHSLULLL LeTerf x5 - Q6v

ClgML&Hwnestgn SI6V6VG) | CgnMLegHwmman 61601
. . . A
BTG 66T &nMIs. (i) zo =1, f(z) = ;-1 . (i)
x _—
z2—9
zyg =3, f(r) =q =3 v 73
5 =3

° Watch Video Solution



https://dl.doubtnut.com/l/_0Uc9VqGW3ccC
https://dl.doubtnut.com/l/_9PHP4mtulGa6
https://dl.doubtnut.com/l/_h9mKwUfmeVIr

z3—1

1

76. { z-1 7 6T60TM) Gy ( — 00, 00)-Q6v
3 x=1

1B MLT&EIWIN6DIG | 6T65TSHGTL(H 5.

° Watch Video Solution

z"—1

z#1

77. f(z) = { z—1 7 61601 eUEWMISHSLILILL. gmyLilev x=1-
o z=1

6V &L OGN JFAWIMEDTE)| 6160160 -60T LOGILIL| SHTETTIS.

° Watch Video Solution

0 z <0
78. f(x) =< 2> 0<z<2 eemm FMILNET 6UEMETEUEDITEOII
4 x> 2

QUEDJ&. QEFMIIL ( — 00, 00)-6V CIGMLTEFSIWLIMEDTS,| 6163T [HM)]6) 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_E8x4CHDmpSMg
https://dl.doubtnut.com/l/_teb07W75Kh62
https://dl.doubtnut.com/l/_1Tf0Gx684pYr

79. f OHMILD g G1HMLFESWIMEsT SMILIS6T GLogy|b f (3) = 5 WMHmILD

lim3 [2f(z) — g(x)] = 4, eT6vil6v g(3)- D& HM6TOIS.

° Watch Video Solution

80. f LiesTeu(HLomm)| e TWM|SHSHLLIL (H6Terng|
f(z) :{(0.,:1: <0,),(z,,0<z < 1,),(—w2+4m—2,,1§m <3,),

QhHs& My 1ML & WTesT S T?

° Watch Video Solution

22— <4

8. g(w):{bwrzo z >4

&ML j&AWnestg)| erevflev LOMNHES] b - 88 SM6vo15.

eleoTm  &Mjy  (— oo, 00) -6V

o Watch Video Solution



https://dl.doubtnut.com/l/_Xq7rNpa44R9j
https://dl.doubtnut.com/l/_ybUWaJwhy3I9
https://dl.doubtnut.com/l/_Crj98DOEcZQ1

82. f(m):msin<£) 61601%. f(0)-601 6IMhg LEILILSHEG 6I6v6uIT

QL rhigerMey|b C1&MLIFAWNen NS Q(H&(GLD?

° Watch Video Solution
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8. f(z) = -

3 —1

6160TM &ML x=1-6V 6UEDTWN|&H&LILIL 6l6V6m6y

f(1)-601 6TMH & LOSILILINM (S x = 1-60  61G ML FEHWN6tTIHTSH Q (H&H(GLD?

° Watch Video Solution

. sinx
84. lim
T — 00 €
A1l
B.O
C.o©


https://dl.doubtnut.com/l/_rGXUmCdJ5iNL
https://dl.doubtnut.com/l/_1coopzeTJxRy
https://dl.doubtnut.com/l/_U3fgGSGferjU

Answer:

° Watch Video Solution

20 — T

85. lim
T — % Cos T

A.2

B.1

D.O

Answer:

° Watch Video Solution

86. lim

z—0

(W)

T

A.O


https://dl.doubtnut.com/l/_U3fgGSGferjU
https://dl.doubtnut.com/l/_5V1VuaLb6lIL
https://dl.doubtnut.com/l/_FGm63O5Ofb34

B.1
C.\/2

D. @6ummlev 615151606516V

Answer:

° Watch Video Solution

87. lim -2 Vo
=0 4/sin6

Al

C.o

D.2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_FGm63O5Ofb34
https://dl.doubtnut.com/l/_gvGyeLr8MBqU

2 X
88 lim (M)
zoo0 \ 22+ 2+ 3

D.1

Answer:

o Watch Video Solution

89. lim 2224:11 B
A1l
B.O
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https://dl.doubtnut.com/l/_FRPo9HLltXMX
https://dl.doubtnut.com/l/_bBAGgsjR9hk2
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https://dl.doubtnut.com/l/_5ziqDoQRnKFC

B.2(log2)?
C.log 2

D.3 log 2

Answer:

° Watch Video Solution
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https://dl.doubtnut.com/l/_jwRoM8TEt92C
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D.O
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o4.1(2) = {

A lim f(z) =1

rz—1
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D.1
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https://dl.doubtnut.com/l/_InJEq0xmHsXB
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https://dl.doubtnut.com/l/_pHhw12y3SA42
https://dl.doubtnut.com/l/_2TYsqN5Z4AuT
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https://dl.doubtnut.com/l/_k3N6aAAroFsM
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